QP Training Course
MA – FR Answers

Chapter 10 Financial Instruments

Answer 1
Extract from financial statements

Statement of comprehensive income:

- Finance cost $378

Statement of financial position:

- Non-current liability $4,129

- Other components of equity $849

Under the provisions of HKAS 32, the loan needs to be spilt into its liability and equity components. The calculation is as follows:

[image: image1.emf]Year Interest DF @ 9% PV

2009-19 250              6.420        1,605          Initial

2019 6,000           0.420        2,520          Issue cost cost

4,125          123.75 4,001       

Net proceeds 5,000         

Equity component 875             26.25 849          

Year Opening Interest Payment Closing

@ 9.45%

2009 4,001           378           (250)           4,129          

2010 4,129           390           (250)           4,270          

2011 4,270           403           (250)           4,423          

2012 4,423           418           (250)           4,591          

2013 4,591           434           (250)           4,775          

2014 4,775           451           (250)           4,976          

2015 4,976           470           (250)           5,196          

2016 5,196           491           (250)           5,437          

2017 5,437           514           (250)           5,701          

2018 5,701           539           (250)           5,990          


The issue cost of $150 ($5,000 × 3%). These should be allocated to the liability and equity components in the ratio 4,125 : 875.This means that $124 (150 × 4,125/5,000) is allocated to the liability component and 26 (150 – 12) to the equity component. Therefore the opening liability component after allocating the issue costs is $4,001 (4,125 – 124) and the opening equity component is 849 (875 – 26).
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Answer 2
Year ended 31 March 2011

On 1 January 2011, no journal entry is required for the forward contract.

On 31 March 2011

	
	Dr. ($)
	Cr. ($)

	Forward contract (current assets)
	100,000
	

	Gain on revaluation of effective hedging instrument – other comprehensive income
	
	100,000


	
	$000

	Statement of comprehensive income – in other comprehensive income
	

	Gain on revaluation of effective hedging instrument
	100

	Statement of financial position
	

	Current assets – derivative financial instruments
	100


Explanation:

The property, plant and equipment is not recognized in the year ended 31 March 2011 because the contract to purchase is an executor one.
[1 mark]

At 31 March 2011 the derivative will be shown on the statement of financial position under current assets at its fair value of $100,000.
[1 mark]

The derivative has a nil cost so a gain in fair value of $100,000 will be reported in the statement of comprehensive income. Because the derivative is designed as a hedging instrument this will be taken to other comprehensive income rather than profit or loss.


[1.5 marks]

Year ended 31 March 2012
Between 1 April 2011 to 30 June 2011, a further gain on revaluation of the derivative of $50,000 ($150,000 – $100,000) will be recognized in other comprehensive income.
[1 mark]

On 30 June 2011 the machine will be recognized in PPE at cost. The initial amount recognized will be $1,250,000 (2m ÷ 1.6)
[1 mark]
	
	Dr. ($)
	Cr. ($)

	Forward contract (current assets)
	50,000
	

	Gain on revaluation of effective hedging instrument – other comprehensive income
	
	50,000


The financial asset will be removed from the statement of financial position of Omega when the contract is settled on 30 June 2011.
[0.5 marks]
The gain of $150,000 in other comprehensive income must be recognized in profit or loss as the cost of purchasing the property, plant and equipment is recognized in profit and loss


[1 mark]

Method 1 – Adjusting the carrying value of the asset at the date of recognition

	
	Dr. ($)
	Cr. ($)

	Equity – gain on revaluation of effective hedging instrument
	150,000
	

	Machine
	
	150,000

	
	
	

	Machine (2 million shillings ÷ 1.6)
	1,250,000
	

	Bank
	
	1,250,000

	
	
	

	Bank
	150,000
	

	Forward contract
	
	150,000

	
	
	

	Depreciation [($1,250,000 – $150,000) × 1/5 ×9/12]
	165,000
	

	Accumulated depreciation
	
	165,000


	
	$000

	Statement of comprehensive income – profit or loss
	

	Depreciation [1 mark]
	165

	Statement of financial position
	

	Non-current assets – PPE (1,250,000 – 150,000 – 165,000) [1 mark]
	935


Method 2 – Reclassifying the gain gradually as the PPE is depreciated.
	
	Dr. ($)
	Cr. ($)

	Equity – gain on revaluation of effective hedging instrument ($150,000 × 1/5 × 9/12)
	22,500
	

	Reclassifying the gain of effective hedging instrument – I/S
	
	22,500

	
	
	

	Machine (2 million shillings ÷ 1.6)
	1,250,000
	

	Bank
	
	1,250,000

	
	
	

	Bank
	150,000
	

	Forward contract
	
	150,000

	
	
	

	Depreciation [$1,250,000 × 1/5 × 9/12]
	187,500
	

	Accumulated depreciation
	
	187,500


	
	$000

	Statement of comprehensive income – profit or loss
	

	Depreciation
	187.5

	Reclassifying the gain of effective hedging instrument
	(22.5)

	
	165

	Statement of financial position
	

	Non-current assets – PPE (1,250,000 – 187,500)
	1,062.5


Answer 3
HKAS 39 Financial Instruments: Recognition and measurement states that a derivative is a financial instrument:

(i)
Whose value changes in response to the change in an underlying variable such as an interest rate, commodity or security price, or index; such as the price of edible oil

(ii)
That requires no initial investment, or one that is smaller than would be required for a contract with similar response to changes in market factors; in the case of the future purchase of oil, the initial investment is nil and

(iii)
That is settled at a future date.
However, when a contract’s purpose is to take physical delivery in the normal course of business, then normally the contract is not considered to be a derivative contract, unless the entity has a practice of settling the contracts on a net basis. In this case the contracts will be considered to be derivative contracts and should be accounted for at fair value through profit and loss. Even though the entity sometimes takes physical delivery, the entity has a practice of settling similar contracts on a net basis and taking delivery, only to sell shortly afterwards. Hedge accounting techniques may be used if the conditions in HKAS 39 are met.
HKAS 39 permits hedge accounting under certain circumstances provided that the hedging relationship is: formally designated and documented, including the entity’s risk management objective and strategy for undertaking the hedge, identification of the hedging instrument, the hedged item, the nature of the risk being hedged, and how the entity will assess the hedging instrument’s effectiveness; and expected to be highly effective in achieving offsetting changes in fair value or cash flows attributable to the hedged risk as designated and documented, and the effectiveness can be reliably measured.
Seltec would use cash flow or fair value hedge accounting. A fair value hedge is a hedge of the exposure to changes in fair value of a recognised asset or liability or a previously unrecognised firm commitment to buy or sell an asset at a fixed price or an identified portion of such an asset, liability or firm commitment, that is attributable to a particular risk and could affect profit or loss. The gain or loss from the change in fair value of the hedging instrument is recognised immediately in profit or loss. At the same time the carrying amount of the hedged item is adjusted for the corresponding gain or loss with respect to the hedged risk, which is also recognised immediately in net profit or loss.
A cash flow hedge is a hedge of the exposure to variability in cash flows that (i) is attributable to a particular risk associated with a recognised asset or liability (such as all or some future interest payments on variable rate debt) or a highly probable forecast transaction and (ii) could affect profit or loss [HKAS 39]. The portion of the gain or loss on the hedging instrument that is determined to be an effective hedge is recognised in OCI and reclassified to the income statement when the hedged cash transaction affects profit or loss [HKAS 39].
HKAS 39 is restrictive because of the difficulty of isolating and measuring the cash flows attributable to the specific risks for the non-financial items. Assuming all of the documentation criteria are met, Seltec can use hedge accounting but may favour a fair value hedge in order to reduce earnings volatility. All price changes of the edible oil will be taken into account, including its type and geographical location, and compared with changes in the value of the future. If the contracts have different price elements, then ineffectiveness will occur. Hedge accounting can be applied as long as the ineffectiveness is not outside the range

80% – 125%.
HKAS 39 defines an embedded derivative as a component of a hybrid instrument that also includes a non-derivative host contract, with the effect that some of the cash flows of the instrument vary in a way similar to a stand-alone derivative. As derivatives must be accounted for at fair value in the statement of financial position with changes recognised through profit or loss, so must some embedded derivatives. HKAS 39 requires that an embedded derivative should be separated from its host contract and accounted for as a derivative when:
(i)
the economic risks and characteristics of the embedded derivative are not closely related to those of the host contract;

(ii)
a separate instrument with the same terms as the embedded derivative would meet the definition of a derivative; and

(iii)
the entire instrument is not measured at fair value with changes in fair value recognised in profit or loss.
If an embedded derivative is separated, the host contract is accounted for under the appropriate standard. A foreign currency denominated contract contains an embedded derivative unless it meets one of the following criteria:
(i)
the foreign currency denominated in the contract is that of either party to the contract,

(ii)
the currency of the contract is that in which the related good or service is routinely denominated in commercial transactions,

(iii)
the currency is that commonly used in such contracts in the market in which the transaction takes place.
In this case the pound sterling is not the functional currency of either party, oil is not routinely denominated in sterling but dollars as most of Seltec’s trade as regards the oil appears to be in dollars and the currency is not that normally used in business transactions in the environment in which Seltec carries out its business. Additionally, the economic risks are not closely related as currency fluctuations and changes in the price of oil have different risks. The host contract is not measured at fair value but would meet the definition of a derivative if it were a separate instrument with the same terms. The currency derivative should therefore be accounted for at fair value through profit or loss.
ACCA Marking Scheme:

[image: image3.emf]
Answer 4

(a)

	Date
	
	Cash flow
	DF @ 8%
	PV

	
	
	$m
	
	$m

	30 Nov 09
	Interest
	48
	0.9259
	44.44

	30 Nov 10
	Interest
	48
	0.8573
	41.15

	30 Nov 11
	Interest
	48
	0.7938
	38.10

	30 Nov 12
	Interest + Principal
	848
	0.7350
	623.31

	PV (the liability component) A
	747.00

	As the net proceeds of issue were B
	800.00

	So the equity component is (B – A)
	53.00


Journal entries for the issue of the convertible bond (CB) on 1 December 2008:
	
	Dr. ($m)
	Cr. ($m)

	Cash
	800
	

	Convertible bond – liability
	
	747

	Equity – conversion option
	
	53


(b)

Carrying amount of the financial liability component of the CB at 1 April 2010:

	Year
	Opening balance
	Effective interest at 8%
	Sub-total
	Interest payment
	Closing balance

	
	$m
	$m
	$m
	$m
	$m

	30.11.09
	747.00
	59.76
	806.76
	(48.00)
	758.76

	1.4.10
	758.76
	20.23
	779.00
	
	


Journal entries for the conversion of CB into shares on 1 April 2010:

	
	Dr. ($m)
	Cr. ($m)

	Convertible bond
	779
	

	Equity – conversion option
	53
	

	Share capital
	
	832


(c)
HKAS 39 requires an entity to measure the financial liability at fair value, plus transaction costs that are directly attributable to the issue of the financial liabilities, at initial recognition.

Estimation of the fair value of the interest-free loan of HK$500 million based on the effective interest rate of other borrowings of AML, i.e. 6%.
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The journal entries for the recognition of the interest-free loan on 1 April 2010:

	
	Dr. ($m)
	Cr. ($m)

	Bank or cash
	500
	

	Loan from a shareholder
	
	445

	Equity – contribution from a shareholder
	
	55


Answer 5
(a)

HDL must determine whether the modification is considered to be an extinguishment of the original bank loan in accordance with HKFRS 9.

HKFRS 9 requires an exchange between an existing borrower and lender of debt instruments with substantially different terms to be accounted for as extinguishment of the original financial liability and the recognition of a new financial liability.

Similarly, a substantial modification of the terms of an existing financial liability is accounted for as an extinguishment of the original financial liability and the recognition of a new financial liability.

HKFRS 9 [B3.3.6] states that the terms are substantially different if the discounted present value of the cash flows under the new terms, including any fees paid net of any fees received and discounted using the original effective interest rate, is at least 10 per cent different from the discounted present value of the remaining cash flows of the original financial liability.

The modified cash flow of the bank loan is as follows:
	Year ended
	Payments
	Discount at 8%
	Present value

	
	HK$ million
	
	HK$ million

	30 June 2010
	12.00
	0.9259
	11.11

	31 June 2011
	12.00
	0.8573
	10.29

	30 June 2012
	12.00
	0.7938
	9.53

	30 June 2013
	212.00
	0.7350
	155.83

	
	
	
	186.76


As the difference between the amortised cost of the bank loan at the date of modification, 30 June 2009 (HK$200 million) and the present value of the new bank loan, discounted by the original effective interest rate (HK$186.76 million), is less than 10 per cent ([HK$200 million – HK$186.76 million]/ HK$200 million × 100% = 6.62%), the modification is not considered as extinguishment of the original bank loan.

No gain or loss is recognised for the modification and the carrying amount of the bank loan is still HK$200 million.

The bank loan was originally repayable on 30 June 2010 and classified as current liability. The modification of the maturity date of the bank loan results in such liability to be settled twelve months after the reporting period. Accordingly, it is classified as non-current liability in the statement of financial position as at 30 June 2010.

(b)

In accordance with HKAS 32, an entity may amend the terms of a convertible instrument to induce early conversion, for example by offering a more favourable conversion ratio or paying other additional consideration in the event of conversion before a specific date. The difference, at the date the terms are amended, between the fair value of the consideration the holder receives on conversion of the instrument under the revised terms and the fair value of the consideration the holder would have received under the original terms is recognised as a loss in profit or loss.

Journal entries that HDL should make on 30 June 2009:
	
	Dr. ($)
	Cr. ($)

	Expense
	18,500,000
	

	Convertible bonds equity reserve
	
	18,500,000


(To record the amendment of the terms of conversion (100 × (2,500,000 – 2,000,000) × HK$0.45) – HK$4,000,000.)

	
	Dr. ($)
	Cr. ($)

	Convertible bonds
	96,296,296
	

	Interest payable
	4,000,000
	

	Convertible bonds equity reserve
(7,133,058 + 18,500,000)
	25,633,058
	

	Share capital
	
	125,929,354


(To record the conversion of the bonds under the amended terms of conversion and waive interest payable.)

Answer 6
(a)

1.
Debt instruments would normally be measured at fair value through profit or loss (FVTPL), but could be measured at amortised cost (net of any writedown for impairment) if the entity chooses to do so, provided the following two tests are passed:
(a)
Business model test – If it is to collect the contractual cash flows, it implies that there will be no or few sales of such financial assets from a portfolio to their maturity date.

(b)
Contractual cash flow characteristics test – If the contractual terms of the financial asset give rise to cash flows on specified dates that are solely payments of principal and interest based upon the principal amount outstanding.

In this case, the RMB10 million debenture with the contractual terms gives rise on specified dates to cash flow that are solely, payments of principal (i.e. 30 September 2013) and interest on the principal amount outstanding (i.e. payable semi-annually).

Providing that the investment is held by Company J within a business model whose objective is to hold the investment in order to collect contractual cash flows, the debenture shall be measured at amortised costs under HKFRS 9. Otherwise, the debenture is measured at fair value under HKFRS 9
As the debenture is denominated in RMB, which is different to the functional currency of Company J, it is considered as a foreign currency monetary asset, which is reported at the end of each reporting period at closing rate. The exchange difference arising on such translation is recognised in profit or loss.
2.
The semi-annual coupons of the equity linked deposit are indexed to the performance of a basket of listed securities, they are not a consideration for the time value of money and for credit risk associated with the principal amount outstanding.
Accordingly, the contractual cash flows are not solely payment of principal and interest thereon, the RMB8 million equity linked deposit shall not be measured at amortised cost, but at fair value under HKFRS 9.

The gain or loss arising from the fair value change shall be recognised in profit or loss.
3.
Ordinary shares of Company Y are not a financial asset with contractual terms which give rise on specific dates to cash flows that are solely payments of principal amount and interest on the principal amount outstanding.
The investment shall be measured at fair value under HKFRS 9.

The gain or loss arising from the fair value change shall be recognised in profit or loss unless Company J has elected to present gains or losses on that investment in other comprehensive income providing that the investment in the equity instruments is not held for trading in accordance with HKFRS 9.
(b)

A refundable deposit to a supplier for steel purchase is considered as a financial asset as the holder has the contractual right to obtain a refund of cash under HKAS 32.
A prepayment for steel supply with physical delivery is not considered as a financial asset as the holder does not have the contractual right to receive cash or other financial assets from the supplier or to exchange financial assets or financial liabilities with another entity under conditions that are potential favourable to the entity.
Answer 7
(a)
The financial position of MG as at 31 December 2011

Option 1

The Rights Issue is an equity transaction and will increase MG's net assets by $1,000 million.
Option 2

The Convertible Bond is a compound financial instrument which contains both a liability and an equity component.
Liability component:

PV of 8 semi-annual interest payments of $20 million and redemption of $1,000 million at 31 December 2015 (market interest rate 2.5% per semi-annual) = $964.15 million.
Shown as non-current liability

Equity component:

$35.85 million [$1,000 – 964.15 million] (ignoring the tax effect).
[image: image5.emf]Cash flow DF @ 2.5% PV

Periods $m $m

1.4.2012 Interest (2%) 20             0.9756          19.51         

1.10.2012 Interest 20             0.9518          19.04         

1.4.2013 Interest 20             0.9286          18.57         

1.10.2013 Interest 20             0.9060          18.12         

1.4.2014 Interest 20             0.8839          17.68         

1.10.2014 Interest 20             0.8623          17.25         

1.4.2015 Interest 20             0.8413          16.83         

1.10.2015 Interest 20             0.8207          16.41         

1.12.2015 Principal 1,000        0.8207          820.75       

PV (the liability component) 964.15       

As the net proceeds of issue 1,000.00    

Equity component 35.85         


(b)

The earnings per share of MG for the year ending 31 December 2012, assuming the estimated profit is $800 million.
With the Rights Issue, the number of shares of MG used for the computation of EPS will increase to 1,200 million.
The EPS calculated based on an estimated profit of $800 million will decrease from $0.8 ($800/1000) to $0.67 ($800/1200) per share.
The convertible bond will not affect the number of shares for the basic EPS calculation, but will decrease the profit for the year 2012 by $48.31 million [($964.15 x 2.5%) + {($964.15 x 1.025 - $20) x 2.5%}] (ignoring the tax effect).
The basic EPS calculated based on an estimated profit of $800 million less $48.31 million incremental interest expenses will decrease from $0.8 ($800 / 1000) to $0.752 (($800-48.31) / 1000) per share.
For the diluted EPS calculation, the dilution effect is as if conversion of the convertible bond is considered, i.e. $48.31 million / incremental 125 million shares= $0.386.
(c)

The disclosure of financial risk under HKFRS 7
HKFRS requires MG to disclose the financial instruments'

(a)
exposure to risk and how they arise,

(b)
its objectives, policies and processes for managing the risk and the methods used to measure the risk and

(c)
any changes of (a) and (b) from the previous period.
The CB is at a fixed rate and subject to fair value interest rate risk, an increase / decrease of the market interest rate will increase/decrease the fair value of the CB.
HKFRS 7 requires the preparation of a maturity analysis for CB that shows the remaining contractual maturities, analysis by time bands showing the contractual undiscounted cash payments and allocated to the earliest period in which MG can be required to pay.
HKFRS 7 requires MG to describe in the financial statements how the management of MG manages the liquidity risk inherent in the items disclosed in the maturity analysis.
Answer 8
(a)(i)
A fixed rate bank loan exposes the borrower to fair value interest rate risk, i.e. the change in market interest rate will affect the fair value of the bank loan.
A variable rate bank loan exposes the borrower to cash flow interest rate risk, i.e. the change in market interest rate will affect the cash flow of the bank loan with an increase or decrease in payment of loan interest.
(a)(ii)

A hedging instrument is a designated derivative or (for a hedge of the risk of changes in foreign currency exchange rates only) a designated non-derivative financial asset or non-derivative financial liability whose fair value or cash flows are expected to offset changes in the fair value or cash flows of a designated hedged item.
A hedged item is a recognised asset, liability, unrecognised firm commitment, highly probable forecast transaction or net investment in a foreign operation that exposes the entity to risk of changes in fair value or future cash flows and is designated as being hedged.
Hedge accounting recognises the offsetting effect on profit or loss of changes in the fair values of the hedging instrument and the hedged item. The objective is to ensure that the gain or loss on the hedging instrument is recognised in profit or loss in the same period when the item that is being hedged affects profit or loss.
Without adopting the hedge accounting, the hedging instrument, if it is a derivative, will normally be measured at fair value through profit or loss. The hedged item may adopt a different accounting treatment under HKFRS which results in a mis-match of the effects of changes in the fair value.
If a cash flow hedge meets the conditions for hedge accounting during the period, it shall be accounted for as follows:
(a)
The portion of the gain or loss on the hedging instrument that is determined to be an effective hedge shall be recognised in other comprehensive income and

(b)
The ineffective portion of the gain or loss on the hedging instrument shall be recognised in profit or loss
If a hedge of a forecast transaction subsequently results in the recognition of a non-financial asset or a non-financial liability, the amount that had been recognised in other comprehensive income shall be:
(a)
reclassified from equity to profit or loss as a reclassification adjustment in the same period or periods during which the hedged forecast cash flows affect profit or loss or

(b)
includes them in the initial cost or other carrying amount of the asset or liability.
(a)(iii)

The variable rate bond of SC has a cash flow exposure to changes in the market rate of interest.
An increase in the market interest rate, assuming other variables affecting the valuation of the bond are unchanged, theoretically, the fair value of a variable rate bond will not change while a fixed rate bond will decrease.
Since SC measures the bond at amortised cost, the increase in the market interest rate of 0.5% will not result in any adjustment to the carrying amount of the bond.
The interest rate swap, as a derivative, is measured at fair value through profit or loss, if hedge accounting is not adopted.

An increase in the market interest rate of 0.5 per cent will result in SC receiving more under the variable rate interest amount in exchange for paying 2 per cent fixed interest amount.
Theoretically, the fair value of the interest rate swap should be increased and a gain will be recognised in the income statement.
(b)

If SC designates the hedge as a fair value hedge, the non-cancellable purchase order in Yen is considered as a firm commitment to be hedged (hedged item) in connection with the spot foreign currency risk.
The Yen forward contract is considered to be as the hedging instrument.
As a financial derivative, the Yen forward contract will have been reported at fair value on each reporting date, with gains or losses reported in profit or loss.
Under fair value hedge, the change in fair value of the firm commitment related to the hedged risk will also recognised in profit or loss and shall adjust the carrying amount of the hedged item. This applies if the hedged item is otherwise measured at cost for SC's hedged item which is an unrecognised firm commitment, its cumulative change in the fair value attributable to the hedged risk is recognised as an asset or liability.
Answer 9
(a)

Investment in the equity shares of LP and PMI shall be measured at fair value:

They are not a financial asset with contractual terms which give rise on specific dates to cash flows that are sole payments of principal amount and interest on the principal amount outstanding.
The gain or loss arising from the fair value change shall be recognised in profit or loss unless ZIL has elected to present gains or losses on that investment in other comprehensive income providing that the investment in the equity instruments is not held for trading.
Being an unquoted equity investment, cost may be an appropriate estimate of fair value of investment in PMI, this may be the case if sufficient more recent information is not available to determine fair value, or if there is a wide range of possible fair value measurement and cost represents the best estimate of fair value within that range.
Investment in the equity instrument of MVC is considered as an investment in an associate as ZIL holds more than 20 per cent of the voting power of MVC and has representation on the board of directors of MVC and therefore is able to participate in policy-making processes.
Investment in MVC will be accounted for under equity method, i.e. initially recognised at cost and the carrying amount is increased or decreased to recognise ZIL’s share of the profit or loss of MVC after the date of acquisition. ZIL’s share of the profit or loss of MVC is recognised in ZIL’s profit or loss. Distributions received from MVC reduce the carrying amount of the investment. Adjustments to the carrying amount may also be necessary for changes in ZIL’s proportionate interest in MVC arising from changes in MVC’s other comprehensive income.
The loan to GE is on contractual terms that give rise on specified dates to cash flow is solely payment of principal and the interest on the principal amount outstanding.
Providing that the loan to GE held by ZIL within a business model whose objective is to hold the investment in order to collect contractual cash flows, the loan to GE shall be measured at amortised cost. Otherwise they are measured at fair value.
The equity investments in LP and PMI will be presented as a non-current asset unless it is expected to be realized within twelve months of the reporting period and it should be presented as a current asset.
The investments in associate, MVC, will be presented as a non-current asset.
The loan to GE with a repayment date after twelve months of the reporting period will be presented as a non-current asset.
(b)

For the equity investment in LP, it is expected that the fair value is measured with level 1 input, i.e. quoted prices (unadjusted) in active markets for identical assets that ZIL can access at the measurement date.
For the equity investment in PMI, as it is unquoted, it is expected that the fair value is measured with unobservable input, i.e. level 3, or even with observable input, it requires adjustment using an unobservable input and if that adjustment results in a significantly higher or lower fair value measurement, the resulting measurement would still be categorised within level 3 of the fair value.
Answer 10
(a)
As the functional currency of GPL is RMB while the settlement of the CB is HK$, it does not fulfil the definition of equity instrument, that is, to be settled by exchanging a fixed amount of cash for a fixed number of its own equity instruments. Accordingly, under GPL's accounting policies, the debt component of the CB is carried at amortised cost and the conversion option is accounted for as a derivative with fair value through profit or loss.
In accordance with HKFRS9 B4.3.3, when the CB is a hybrid instrument, that is, the embedded conversion option classified as a derivative and the host instrument, the initial carrying amount of the host instrument is the residual amount after separating the embedded derivative.
	1 July 2013
	Dr. (HK$m)
	Cr. (HK$m)

	Cash / Bank
	500
	

	Convertible bond – liability
	
	420

	Derivative – conversion option
	
	80


(b)

Carrying amount of the debt component of the CB to be converted at 1 October 2013:

HK$(420 million) × [1 + (6.3% × 3/12)] × HK$ (50/500) million

= HK$42.66 million
Carrying amount of derivative component of the CB to be converted at 1 October 2013:

HK$70 (500 – 430) million × HK$ (50/500) million

= HK$7 million
	1 October 2013
	Dr. (HK$m)
	Cr. (HK$m)

	Convertible bond – liability
	42.66
	

	Derivative – conversion option
	7.00
	

	Equity
	
	49.66


(c)

Effective interest expense of the debt component of the CB for the year ended 31 December 2013:

HK$420 million × (6.3% × 6/12)

= HK$13.23 million
Fair value change of derivative component of the CB for the year ended 31 December 2013:

Initial fair value (HK$80 million) – year-end fair value (HK$100 million)

= fair value loss of HK$20 million
	31 December 2013
	Dr. (HK$m)
	Cr. (HK$m)

	Finance cost – effective interest
	13.23
	

	Fair value change – profit or loss
	20.00
	

	Convertible bond – liability
	
	13.23

	Derivative – conversion option
	
	20.00


The CB should be classified as non-current at the statement of financial position. With the maturity on 30 June 2019, the issuer has an unconditional right to defer settlement of the liability for at least twelve months after the reporting period. Under HKAS 1.69(d), it mentions the terms of a liability that could, at the option of the counterparty, result in its settlement by the issue of equity instruments that do not affect its classification.
Answer 11
(a)

(i)
The loan shall be recognised and measured initially at fair value less direct transaction costs in accordance with HKFRS 9 and subsequently carried at amortised cost. The benefit of the below-market rate of interest shall be measured as the difference between the initial carrying value of the loan determined in accordance with HKFRS 9 and the proceeds received. As this is a benefit from the shareholder, it shall be recognised in equity as capital contribution.

(ii)
Investment in the shares of SUN Limited shall be measured initially and subsequently at fair value in accordance with HKFRS 9 as they are not a financial asset with contractual terms which give rise on specific dates to cash flows that are solely payments of principal and interest on the principal amount outstanding. The gain or loss arising from the fair value change shall be recognised in profit or loss. When the investment in shares of SUN Limited is not held for trading (i.e. long term strategic purpose) and HIL would avoid volatility in profit or loss, HIL should elect to present gains or losses on that investment in other comprehensive income.

(iii)
The deposit shall be measured initially and subsequently at fair value in accordance with HKFRS 9 as it is not a financial asset with contractual terms which gives rise on specific dates to cash flows that are solely payments of principal and interest on the principal amount outstanding. The gain or loss arising from the fair value change shall be recognised in profit or loss.
(b)(i)

Loan from a shareholder

Initial carrying value of the shareholder’s loan:

[HK$15 million + (HK$15 million × 2% × 5)]/(1.05)5
= HK$12.9 million
Journal entries for initial recognition of loan on 1 March 2014:
	
	Dr. ($m)
	Cr. ($m)

	Cash
	15
	

	Shareholder’s loan – liability
	
	12.9

	Capital contribution – equity
	
	2.1


Journal entries for effective interest expense for the period from 1 March 2014 to 31 December 2014:
	
	Dr. ($m)
	Cr. ($m)

	Interest expense ($12.9m × 5%/12 × 10)
	0.54
	

	Shareholder’s loan – liability
	
	0.54


(b)(ii)

Investment in shares of SUN Limited

Journal entries for initial recognition of investment on 30 April 2014:
	
	Dr. ($m)
	Cr. ($m)

	Equity investment
	8
	

	Cash
	
	8


Journal entries for fair value change for the year ended 31 December 2014:
	
	Dr. ($m)
	Cr. ($m)

	Equity investment ($5 × 2m – $8m)
	2
	

	Other comprehensive income
	
	2


(b)(iii)

Deposit with a bank

Journal entries for initial recognition of deposit on 1 July 2014:
	
	Dr. ($m)
	Cr. ($m)

	Deposit
	3
	

	Cash
	
	3


Journal entries for fair value change for the year ended 31 December 2014:
	
	Dr. ($m)
	Cr. ($m)

	Deposit ($3.5m – $3m)
	0.5
	

	Profit or loss
	
	0.5


Answer 12

(a)(i)

Under the current scenario, the conversion feature does not meet the definition of equity as the conversion results in the delivery of a variable number of shares, instead of a fixed number of shares.
Accordingly, under SCL's accounting policies, the debt component of the CB is carried at amortised cost and the conversion option is accounted for as a derivative with fair value through profit or loss.
In accordance with HKFRS9 B4.3.3, when the CB is a hybrid instrument, that is, the embedded conversion option classified as a derivative and the host instrument, the initial carrying amount of the host instrument is the residual amount after separating the embedded derivative measured at fair value.
(a)(ii)

[image: image6.emf]
(b)

[image: image7.emf]
(c)

If the conversion price is fixed and other terms remained constant, the conversion feature would meet the definition of equity as the conversion results in the delivery of a fixed number of shares.
Accordingly, under SCL's accounting policies, this is a compound instrument with the debt component initially measured at fair value and subsequently carried at amortised cost and the conversion option, being an equity component with the carrying amount is determined by deducting the fair value of the debt component from the fair value of the component instrument as a whole, is not remeasured.
Answer 13
(a)

Under HKAS 32.33, if RGL reacquires its own shares, those shares (“treasury shares”) shall be deducted from equity.
No gain or loss shall be recognised in profit or loss on such repurchase of its own shares.
This accounting treatment is the same no matter whether the treasury shares are acquired and held by RGL itself or by the Subsidiary.
Consideration paid or received in connection with these treasury shares shall be recognised directly in equity.
(b)

Mr. Kong’s advice is correct for the separate financial statements of the Subsidiary but not for the consolidated financial statements of RGL and its subsidiaries.
Even if the Subsidiary acquires the RGL’s shares with a view to earn a trading gain, the RGL’s shares are not recognised as a financial asset in the consolidated financial statements pursuant to HKAS 32.AG36.
However, in the separate financial statements of the Subsidiary, the RGL’s shares are accounted for in accordance with HKFRS 9. If those shares are held for trading, they are recognised at fair value through profit or loss with subsequent fair value change through profit or loss.
(c)

A distinguishing feature of the accountancy profession is its acceptance of the responsibility to act in the public interest. In acting in the public interest, a professional accountant shall observe and comply with the Code of Ethics for Professional Accountants (the “Code”).
As a professional accountant, he has to comply with the fundamental principles of integrity, objectivity, professional competence and due care, confidentiality and professional behaviour as set out in s.100.5 of the Code of Ethics for Professional Accountants.
Integrity

A professional accountant should be straightforward and honest in all professional and business relationships. Integrity also implies fair dealing and truthfulness.
A professional accountant shall not knowingly be associated with reports, returns, communications or other information where the professional accountant believes that the information:
(a)
Contains a materially false or misleading statement;

(b)
Contains statements or information furnished recklessly; or

(c)
Omits or obscures information required to be included where such omission or obscurity would be misleading.
When a professional accountant becomes aware that the accountant has been associated with such information, the accountant shall take steps to be disassociated from that information.
Objectivity

A professional accountant should not compromise his professional or business judgment because of bias, conflict of interest or undue influence of others.
A professional accountant shall not perform a professional activity or service if a circumstance or relationship biases or unduly influences the accountant’s professional judgment with respect to that activity or service.
Professional Behaviour

A professional accountant should comply with relevant laws and regulations and should avoid any action that the professional accountant knows or should know may discredit the profession.
Therefore, in this case, the intention of Mr Kong is not ethical. Ms Lee may consider obtaining legal advice on Mr Kong’s request. In those extreme situations where all available safeguards have been exhausted and it is not possible to reduce the threat to an acceptable level, Ms Lee should refuse to be or remain associated with information she determines is misleading and may conclude that it is appropriate to resign from the company (S.300.15 of the Code).
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